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1. What is the solution of

PSR
loglo[l—{l*(l—xz)_l} ] =17
(@ x =100
(b) x=10
) x=1
d x=0

. If A is an integer and «, f3 are the roots

of4x2—16x+%=0 such that 1 < <2

and 2 <f<3, then how many values
can A take ?

(@ 3
b) 9
(c) 14
(d) 15

6% +7% +82492410%

AT 4B~ 42403

. What is

equal

to ?

(a) 330
(b) 340
(c) 355
(d) 366

If XP=y+z, yP=z+x and Z=x+y,
then what 1s the value of

1 1 k. 2
x+1 p+l z+1._

(ay ~I1
(b) 1
(c) 2
(@ 4

5. What would be the maximum value of O

in the equation
SPI+3R7T+208=11147

(@ 9
(b) 8
(C) 5
(d) 4

6. A4 is a set of positive integers such that
- when divided by 2, 3, 4, 5 and 6 feaves

the remainder 1,2,3,4 and 5 respec-
tively,. How many integers between
0 and 100 belong to the set 4 ?

(a) No integer
(b) One

(¢) Two

(d) Three

. In an examination, a student was asked

to divide a certain number by 8. By
mistake he multiplied it by 8 and got the
answer 2016 more than the correct
answer. What was. the number ?

(a) 252
(b) 256
(c) 258
(d) 260

. In the quadratic equation x*+ax+5=0,

a and b can take any value from the set
{1, 2, 3, 4}. How many pairs of values
of a and b are possible in order that the
quadratic equation has real roots:?

(a) 6
(b) 7
c) 8
@) 16
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1. 1og10{1—{1—(1-xz)-1} I] e
WHETR?

(a) x=100

(b) x=10

(c) x=1

d x=0

2. afz A ww quifd B 3R o, B EHERO
4x2—16x+%=0%ﬁ§{5ﬁm%%
1< <23R2<f <38, qAS foram 7
| ad § ?

.

® 9

(c) 14

@d 15

6% +7% +8% +9% +10? AP
g N N N R 1
(a) 330
(b) 340
© 355
(d) 366

4. AR P=y+z,yP=z+x IR P=x+y 3,
P et
x+1 y+1 z+]

(a -1

® 1

(c) 2

@ 4

FTHE TS ?

5. THERIT 5P9 + 3R7 +208 = 1114¥ Q &

Fftreas W= T Bhm 7
(@ 9
®) 8
() S
d 4

. A I G quilehl, ST 2,3,4, 53R 6 9/

farfse o 9@ | #ee , 2, 3, 4
3R 5 v B &, T IS =97 ¢ |
=g A ¥ 0 # 100 & si= & T qorien

ghr ?

(a) IS qUITE Rl
(b) TH

© @

@ @

.%ﬂﬁqﬁwﬁ, s foremdt @ o fafvea

s i g% frfre 3 3 Fort gon T |
Tl & TE G A1 8@ un e fa Ak

_Wﬂ@wﬁzmﬁaﬁaﬁmﬁwmﬁ

e 4T A1 7
(a) 252
() 256
(c) 258
(d) 260

. femma @il X+ ax+b=0H a 3R b,

Tead {1,2, 3,4} & foet st 7 &1
T 8 | 3R b F AW & V@ fFaw S
g # fr forg fmma wile & oo
Jredfae B ?

(@ 6

b) 7

(© 8

@ 16
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9.

10.

11.

12,

The sum of the squares of two positive
integers is 208. If the square of the larger
number is 18 times the smaller number,
then what is the difference of the larger
and smaller numbers "

(a) 2
(b) 3
(c) 4
@ 6
Let A = {7, 8, 9, 10, 11, 12} and
B={7, 10, 14, 15}. What is the number

of elements mm (4—-B) and (B-A)
respectively ? '

(a) 2 and 4
(b) 4 and 2
(¢) 2 and 2
(d) 4 and 4
A boy saves Rs. 4-65 daily. What is the

least number of days in which he will be
able to save an exact number of rupees ?

(a) 10
(®) 20
(c) 21
(d) 25
Two men, A and B run a 4 km race on a
course 0-25 km round. If their speeds are

in the ratio 5:4, how often does the
winner pass the other ?

(a) Once
(b) Twice
(c) Thrice

(d) Four times

SDC-S-TRD - A

13.

14.

15.

16.

2o
e 3:1
Ly3

Which one of the following rational
numbers has non-terminating and repeat-
ing decimal expansion ?

15
@ Te00
® =
8
&) 2
T
o
(d) 3
If &« and § are the two zeros of the

polynomial 25x* — 15x + 2, then what is
a quadratic polynomial whose zeros are
o)™ and 28)" 2

(@) x*+30x+2
(b) 8x*—30x+25
(c) 8% -30x

(d) x*+30x

What is the remainder when 2'% is
divided by 101 ?

(a) 1

(b) 11

() 99

(d) 100

In an office, one-third of the workers are
women, half of the women are married
and one-third of the married women
have children. If three-fourth of the men
are married and one-third of the married
men have children, then what is the ratio
of married women to married men ?

(a) ' 1:2
(b)

(d)



9.

(@

(@)

10.

11.

12.

Q EFTCHS qUTiehi S =TT T FTRT 208 € |
afe St | o1 w1 Biel de@an H 187 &,
Al G SR DIET TS HT AR T ?

2
(®) 3
(c) 4

6

o it 4 = {7, 8,9, 10, 11, 12} 3R

B={7,10,14,15} % | (4—B) 3R (B—4)
¥ a4l it geaT FAY: =T ?

(a) 23R 4
®) 43K 2
(c) 23R2
(d) 43R4

T g WiAfed 4.65%, =Tt @ | e 6t
ag a9 gedt Fa1 Bhi, e 98 o
Tt Y AT =T AT ?

(a) 10

(b) 20

{(c) 2i

(d 25

1 3ATeHY, A 3R BUF 0-25 km F MTHR
99 | 4k Qg oI ¢ | Al SEht
TRIR T JITG S : 48, At Sl aren gaL
T foral IR o freperan @ 7

(a) T& @R
(b) IR
(c) TH SR

) ¥R TR

13.

14.

15.

16.

freafafaa & & F@ @ = afdw wen
FFE 3R RIgT GUHEd WER ATe!
g7

15

1600

23

8

35

50

17

6

(a)
(b)
(CI)
(d)

afe sgug 2527 — 15x + 2% T JIF o AR
B & @ =& fouma sgue #ar & e
IEF (2a) ' IR 28) ' ' ?
(a). X +30x +2

(b) 8x*—30x+25

(c) 8x—30x

d) x*+30x

= 2'% = 101 ¥ e e s, @t
AYF T BRI ?
(@ 1

b 11

(c) 99

(@ 100

T aifee o, ue-foers wHerRt #feemd €,
Afgerstt # & amelt wigard farfea € ok
T et # & uw-faer Afearsi &
w1 €| afe qeut # ¥ d-star gew
foanfea & sk weh-faer fomfea gewt
a4 g, ol fqarfeq wfeenat @ faenfea
TN h |1 T AT 8 ?

ta 1:2

(b) 2
(c) 3
@ 1

=1
|
3
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17. A can do 50% more work than B in the

18.

19.

same time. B alone can do a piece of
work in 30 hours. B starts working and
had already worked for 12 hours when
A joins him. How many hours should
B and 4 work together to complete the
remaining work ?

(a) 6 hours

(b) 12 hours

(¢) 4-8 hours

(d) 7-2 hours

When the speed of a train is increased by

20%, it takes 20 minutes less to cover
the same distance. What is the time

taken to cover the same distance with

the original speed ?
(a) 140 minutes
(b) 120 minutes
(¢) 100 minutes

(d) 80 minutes

A candidate scoring x% marks in an
examination fails by a marks, while
another candidate who scores y% marks
gets b marks more than the minimum
required pass marks. What is the
maximum marks for the examination ?

@ 100@+h)
E=¥

100(a —b)
(b) I'l"_]f

. 100@+D)
y=x

@ 100@-b)
B
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- 20. If p and g are the roots of x*+ px+g =0,

21.

22.

then which one of the following is
correct ?

(a p=0orl
() p=1 only
(c) p=-2o0r0
(d) p=-2only

The cost of 2:5 kg rice is Rs. 125. The
cost of 9 kg rice is equal to that of 4 kg
pulses. The cost of 14 kg pulses is equal
to that of 1-5 kg tea. The cost of 2 kg tea
is equal to that of 5 kg nuts. What is the
cost of 11 kg nuts ?

(a) Rs. 2310
(b) Rs. 3190
(c) Rs. 4070

(d) Rs. 4620

Which one of the following is correct in

respect of the number 1729 ?

(a) It cannot be written as the sum of
the cubes of two positive integers

(b) It can be written as the sum of the '
cubes of two positive integers in
one way only

(c) It can be written as the sum of the
cubes of two positive integers in
two ways only

(d) It can be written as the sum of the
cubes of two positive integers in
three ways only



17.

18.

19.

U TH G F A, B H 50% 3AEreh Y

AT & | B el TS &7 &1 30 He | g
IR @1 2 | B FH L& FT 8, IR I

12 G2 T T O A9 F TG A I4F GF
firete &l e WA B | 59 g FE A
92 e % fo1T 4 3R B foram ¢ fere
F Rt ?
(a) 6 e
(b) 12 W2
(©) 4-8 9
@ 72
STel Uh XeNTIS! Sl =Tt 20% =Gt §, A1 T8
g g 9 A | 20 firee W @t €

IU! ArEdfaeh T | SE THA G Bl 7
A | TR gHg T ?

(a) 140 free
(b) 120 fme
(c) 100 f&e
(d 80 Fme
forent aier # we arwaet x% 3ok TH el
2 3R ¢ 3T | % B ATAT B, SR GEA
vl ST 1% 37 WTH ST © I8 grad

ATIYIE IT 3R] & b 3 3rfires UTH Bid
2 | weT & arfiream I e 7
@ 100(a +b)
5=
®) 100(a —b)
x+y
() 100@:+h)
y=Xx
@ 100(a —b)
=y

20. afe P+px+qg=0F qa p AR ¢ &, A

. 2L

22,

e d d s o ow g 8 ?

(a) p=039ga1 ]

(b) *a p=1

(¢) p=-239a10

(d) Fad p=-2

2-5 kg 9 I hEa 125%. B | 9kg @
F Fd 4 kg T T FET FH TR T |
14 kg TTe hY <hied 1-5 kg =T Y U= &
aER © | 2 kg =@ <l 9l 6T A S kg

7z (RIgR %ef) & sRER @ | 11 kg 72 &
a9 8 7

(a) ®. 2310

(b) % 3190

(¢) . 4070

d) = 4620

e 1729 & gag # f=fafaa & @
HI €1 U FIT TEl © 7

(a) T T EATCHS JUTiehl & 1 & AT &
=7 # 7 for@r s g ©

(b) =X 1 EATEAS quifehl & UAT & AT &
®] # F9d T Bl yaR & fomar s
THaT ©

(c) T T gATCHE qurfent o Wt & ANT
w9 & Fad o yahR & forar ST w@aman
2 _

(d) = 2 gATHS quTieRl o T o AW
&9 & el a9 TR & foran s gagan
2
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23.

24.

25.

A shopkeeper increases the cost price of
an item by 20% and offers a discount of
10% on this marked price. What is his
percentage gain ?

(a) 15%
(b) 12%
() 10%
d) 8%

There are two numbers p and g such that
their HCF is 1. Which of the following
statements are correct ?

1. Both p and ¢ may be prime.

2.. One number may be prime and the
other composite.

3. Both the numbers may be com-
posite.

Select the correct answer using the code
given below :

(a) 1 and 2 only
(b) 2 and 3 only
(c) 1 and 3 only
(d 1,2 and 3

What i1s

I i
Isstinithy [l sttt .+
= T3 3¢ '3

1 1
'Jl*'zoovz_onosz i ek

@ 2008——
2008

(b) 2007 - S
2007

(c) 2007- o
2008

1
d) 2008 ———
@ 2009

SDC-S-TRD - A

26.

27.

28.

d) -2, 1_(!0g2)

A person can row downstream 20 km in
2 hours and upstream 4 km in 2 hours.
What is the speed of the current ?

(a) 2 km/hour
(b) 2:5 km/hour
(¢) 3 km/hour
(d) 4 km/hour

Consider the following statements in
respect of positive odd integers x and y :

1. X*+9" is even integer.
2. 2 +)7 is divisible by 4.

Which of the above statements is/are
correct ?

(a) 1 only
(b) 2 only
(c) Both 1 and 2

(d) Neither 1 nor 2

What are the roots of the equation

X

2%2.075 129 9

(a) 2,1- log( J
(b} 2 l—!og( ]

log3
log?2

(c) —2,1~(

log3



23.

24.

25.

T GFTER U e o A & 20%
g aear & ok 58 sifera 7= o 10%
T 31 & | FEe ufderd @ @ g 7
@ 15%

) 12%

() 10%

d 8%

aﬁmﬁpaﬁiqu%%m
HCF, 1 ® | f=fafag & @ &9 & sa4
wel g 7

1. p 3R g ST AT B Hhol &

2. W& WEAT 39T AR g #Isd &
GETIR

3. QA1 HEATT W B Wkl §

T 3 @ e w1 T IR Tl TN
e

(a) Fad 1 3R 2

(b) Had 2 3R 3

(c) Fad 1 3R 3

@d 1,253K3

i 1 1 1 1 1 D
+_1.i-+2_2+ +;2*+3—2+ s F

\,1+ 12+ lzﬁma:w%?
12007° 2008 |

1
a) 2008———
(@ 2008

' 1
2007 - ——
®) 2007

1
c) 2007 ———
(©) 2008

1
d) 2008 ————-
@ 2009

26. T =fth YR & AR (yaTg) 2 He H

27.

20 km T3 Qa1 & 3R €W wlige 2 5
H 4km A QAT @ | GRT R A TR ?

(@) 2 km/deT

(b) 25 km/=e

(c) 3 km/=eT

(d) 4km/5

gTeE fawr quife! x sy & fom
Frafeafiaa FaAt w feEr Al

1. x2+y2'ﬂq‘1°ﬁ%
2. #4248 fawsa 2

| gl w A A IR /A w2/

28.

~ (a) Fad 1
(b) Fad 2

(©) 13K 23
(d TALTE 2

i :
gHteor 2522751 =9 & qA TR ?

3\

(a) 2,1—log{—
; 2
N

(b) 2,1-—log(-2-
3)

log3 :
g) =2 1=
W [1082]
log?2
d =2, 1=
@ (log?:]
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20.

There are twelve friends 4, B, C, D, E,

" F, G, H, I, J, K and I. who invested

30.

31.

32.

SDC-S-TRD - A

money in some business in the ratio of
La2a3yduaybedieds 9410011 412
and the duration for which they invested
the money 1is 1n the ratio of
12:1Lc10:9:8:F:6:5:@:3:2:1
respectively. Who will get the maximum
profit at the end of the year ?

(a) F only

(b) G o.nly

(c) Both F and G
(d) Neither F nor G

2122 4 492 1 8% 4 4% 4 o130 1o divisible

- by which one of the following integers ?

(a) 3
(b) 5
) 7
@ 11

If 2p + 3¢ = 12 and dp?+ 4pg — 3¢ = 126,
then what is the value of p + 2¢g ?

(@ 5

21
(b) i
(c) ?
: 99
d) T

The number of digits in 3* is # and it is
given that logm 3=0-4771. What is the
value of n ? ' _

(a) 13
(b) 14
(c) 15
(d) 16

10

33,

34.

35.

What is the unit digit of 7% ?
(@ 9
() 7
(c) 6
(d 3

If 4x + 3a = 0, then what is the value of
> +ax+a?  x®-ax+a®

x3—a3 x3+a3

ik
Ta

4
a

?

(a)

(b)

32

7a
24
7a

(©)
(d)

Incomes of Mahesh and Kamal are in
the ratio 1:2 and their expenses are in
the ratio 1:3. Which one of the
following statements is correct ?

(a) Mahesh saves more than what
Kamal saves

(®)
(c)

Savings of both of them are equal

Kamal saves than what
Mahesh saves '

more

(d)

It 1s not possible to determine who
saves more

36. X and Y entered into partnership with

Rs. 700- and Rs. 600 respectively. After
3 months X withdrew 2/7 of his stock
but after 3 months, he puts back 3/5 of
what he had withdrawn. The profit at the
end of the year is Rs. 726. How much of
this should X receive ?

(a) Rs. 336

(b) Rs. 366

(¢) Rs. 633

(d) Rs. 663



29.

30.

31.

- ©

32

A, B,C D, EF, G, HIJ K3R L
are fim €, el et =R & Fen
1:2:3:4:5:6:7:8:9:10: 11:12%
g # T o ok o sty % fog
BT SRTET T FATT 12:11:10:9: 8
T:6:85:8:83:231 %Iﬁ'ﬁfaiiﬂ'ﬁf{
giftreram e foRE wTe B ?

(a) &9 F

(b) Had G

(c) @ F 3R G

@d TRFAYG

21224 4824 8% 4 4% 4+ 21 fpafofaa H @
forer quifes & ferorswr @ 2

(@ 3

®) 5

() 7

@ 11

afe 2p + 3¢ =12 3R 4p>+ 4pg — 3¢* = 126
2, Ap+2gF AR FTE ?

@ 5

21

4

25

4

99
16

(b)

(d)

3% 3 3t Y pEE © SR 73 foar v
% log,, 3=04771% | n FT AR TR ?
(a) 13
(b) 14
© 15
d 16

11

33.

34.

A8,

36.

7% TS AF HT R ?
(@ 9
b) 7
(c) 6
d 3

afe 4x +3a=0%, A1

2 tax+a®  x?-ax+a? o
x%—ag* D

FT ® ?

4
(a) _7_.:1

L
a

(b)

32
7a
24
7a

(c)
(d)

HEY 3K FH Y I 1:2 F AgI@ H

2, 3R ST T 1:3F YT H ® |

fffea s a s aTum gl 8 2

(a) TN FT S, FAA I d=d § AlUF
K

(b) - I Tt I F9T R §

(c) W ht s¥d, RN i s=d | srite
?

(d) T8 TF FTAT G Tl © foh i AR
99 FAT ©

X 3R Y AU & 700 3R & 600 & 919
T ATAGRT & € | T Hel oG X
R 2T o 2/7 Teee oan © iR fee
T ¥ T 3/5 A AR 918 TR | S
FIATR | T F FT A AHE. 7262 | T68
¥ fraa x =t fremn =fe ?

(a) ®. 336

(b) %. 366

(c) & 633

(d) %. 663
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3.

38.

39.

40.

A tank can be filled by pipe X in 2 hours
and pipe Y in 6 hours. At 10 am. pipe X
was opened. At what time will the tank
be filled if pipe Y is opened at 11 a.m. ?

(a) 12:45 hours
(b) 5:00 p.m.
(¢c) 11:45 am.
(d) 11:50 am.

A train is travelling at 48 km/hour
completely crosses another train having
half its length and travelling in opposite
direction at 42 km/hour in 12 s. It also
passes a railway platform in 45 s. What
is the length of the platform ?

(a) 600 m
(b) 400 m
(¢) 300 m
(d) 200 m

The speeds of three cars are in the ratio
2 3 4. What is the ratio between the

times taken by these cars to travel the

same distance ?

{a) 4:3:2.

(b) 2:3:4

(¢) 4:3:6

(d 6:4:3

If the mean age of combined group of
boys and girls is 18 years and the mean
of age of boys is 20 and that of girls is

16, then what is the percentage of boys
in the group ?

(a) 60
(b) 50
(¢) 45

() 40

SDC-S-TRD - A

41.

R =S
b

43.

44,

The area of four walls of a room is
120 m’. The length of the room is twice
its breadth. If the height of the room is
4 m, what is area of the floor ?

(a) 40 m’
(b) 50 m’
(¢) 60 m’
(d) 80 m?

. If a square of side x and an equilateral

triangle of side y are inscribed in a
circle, then what is the ratio of x to y ?

(a) \E
2
(b) \g

(©)

ol &

(d

The ratio of the curved surface area to
the total surface area of a right circular
cylinder is 1: 2. If the total surface area
is 616 cm’, what is the volume of the
cylinder ?

(a) 539 cm’

. (b) 616 cm®

(c) 1078 cm®
(d) 1232 cm’

A cubic metre of copper weighing

-y wnllad
9000 }\-.5 iS TO1I€Q into a

et e S

a square bar 9 m
long An exact cube is cut off from the
bar. How much does the cube weigh ?

(a) 1000 kg

1000
(b) —— ke

(¢) 300 kg

500
@), ke



37.

38.

39.

)
©

UE eh, TRT X B2 e AR URT ¥ @
6 e H W ST dehelt B | ITE: 10 FoF UTEH
X @ 3T | Fh foran = X S afg
qTe9 Y a1 oS GieT AT ¢

(a) 12:45 QIR
(b) 5:00 ITTE
(c)' 11:45 TTE
(d) 11:50 gafg

U SRSl 91 48 km /52T & = @I 8, A9
ST @ AT} eTE hY T st H, S
froda feam # 42 km/5a @ 99 WHE,
125 A 90 oRE ¥ IR I © | TS TH A
whew & 7 45 s H ERAT & | wewrH
werE fRat © ? "

(a) 600 m

400 m

300 m

(d) 200m

WW%&W@WL?}%%]E

. HRI §RT U T G 7 FRA H W AT

40.

HA T AU 947 & 7

(@) 4:3:2°

(b) 2:3:4
(c) 4:3:6
(d 6:4:3

afs wrgah 3k wefrdl & 1w g e
1A I 1899 & AR W hi Y
wTez 20 3R FEfRal Y g w1 e 162,
a1 g # Tl i wlreraar ww @ ?

(@) 60

(b) 50

() 45

(d 40

13

41.

42.

43.

44.

T TR E TR AR S 120 m?
& | FHL Y oeE Saehl S Y TR |
afe FaL Y F9TE 4 m B, A B 1 &R
TR ?

(a) 40m®

() 50m’

(c) 60m’

(d) 80m’

afe 9o x T T A S G p B CH

TwaTg B, U g9 & armga Rl T €,
Tt x & y T I T ?

o

3
3

(b)

(©)

“|% §l- ST

@ :

Ueh il eI Siefe o dish 8 8ol 3R el
T8 S & I 1:2 8 | af g ys
&9 616 om?® ©, TV S T IHTAGH T
£7

(@) 539 cm’

(b) 616 cm’

(c) 1078 cm’

‘@) 1232 cm’

af & TH ud Hie w1, oaer e
9000 kg ©, 9 m WS I ek TR faeett
# Ifcera form smam B | T 3w WH W
faoelt @ reT SIET 8 | 39 UA & A
fram g ? |

(a) 1000kg

® 22 kg
©

3
300 kg
()]

500
5 o8

A — SDC-S-TRD



45.

46.

47.

Into a conical tent of radius 8:4 m and
vertical height 35 m, how many full
bags of wheat can be emptied, if space
required for the wheat in each bag is
196 m’ ?

(a) 264
(b) 201
(c) 132

(d) 105

Let ABC be a right angled triangle with
BC=5cmand AC=12 cm. Let D be a
point on the hypotenuse -4B such that
ZBCD =30°. What is length of CD ?

60
(a) Ecm
®)

© RO s
5+1242

120

@ S+1243

Two circles touch externally and sum of
their areas is 1307 cm” and the distance
between their centres is 14 cm. What is

the difference in the radii of the circles ? .

(a) 5cm

(b) 6 cm

(c) 7cm

(d) 8 cm

SDC-S-TRD - A

14

48.

49.

50.

51

In a circle of radius 3 units, a diameter
AB intersects a chord of length 2 units
perpendicularly at P. If AP > BP, then
what is the ratio of AP to BP ?

(a) 3++10:3-4/10
(b) 3++/8:3-48
©) 3++/3:3-43
(d) 3:43

What is the number of rounds that a
wheel of diameter %,m will make in
traversing 7 km ?

(a) 3300

(b) 3500

(c) 4400

(d) 4900

A building is in the form of a cylinder
surmounted by a hemispherical dome on
the diameter of the cylinder. The height
of the building is three times the radius
of the base of the cylinder. The building

contains 67% m® of air. What is the
height of the building ?

(a) 6 m '

(b) 4m

(c) 3m

d 2m

The radius of the base and the height of
a solid right circular cylinder are in the
ratio 2 : 3 and its volume is 1617 cm’.
What is the total surface area of the
cylinder ? '

(a) 462 cm’

(b) 616 cm?

(c) 770 cm’

(d) 786 cm?



45.

T wiEa awd, freh Bream 8.4 m 3R
FeEAfR 91 35 mi 3, 77 & fra Wy
¥ el R o wd §, afe g 4 A
% 3 forw 1.96 m® S8 6 srEgESAr el ?

(a) 264

(b) 201
() 132

() 105

46.

47.

7 ST £ U gHer Byt ABC ®

el BC=SCm3ﬁTAC=120m% | A9
s @l 4B W U fag Dz waR & %
/BCD=30°% | CD RN T=R F1E ?

© 120
5+ 12«6

cm

120

d cm
@ 5+124/3

I o 99 e s IR § R I
SFRET T ANHA 1307 em’®, 3R S

I F AN A @ 4em | A
foreaant o1 SR T @ ?

(a) 5cm
(b) 6cm
(¢) 7cm

(d) 8 cm

49.

50.

48, 35 & Fom % @ a9 &, =W 4B,

2 TS T & AT R PR dad: Ul -
FAT e | afc AP>BP &, WAPFTBP ¥
AT T § ?

(a) 3+/10: 3-4/10

() 3++/8:3-48

(©) 3++/3:3-43

@ ‘3343

S =R h ST AT 8, S 2 m AT
wF ufer 7 km T @ T@ TR & g
T ?
(a) 3300
(b) 3500
(c) 4400
d 4900

TF TART o & AHR § 1 TR ¢ 6
I F AT T AN o Gl § |
TR i 4TS, Sd & AR ht Breom Fit
I A R | wa #6704 m' A § |
SRA ! A8 FT 8 ?

(a) 6m '

(b) 4m

(c) 3m

(d 2m

. UF g deg<iy Sq & AR i e

3R IEh! FAE @1 IFAT 2:3 B, IR
THSHT AEAA 1617 cm® B | @9 & FA
9B S5 FTE ?

(a) 462 cm’

(b) 616 cm”

(c) 770 cm’

(d) 786 cm’

" A — SDC-S-TRD



52,

53.

54.

S3.

()

(©

The cost of painting a spherical vessel of
diameter 14 cm is Rs. 8008. What is the
cost of painting per square centimetre ?

(a) Rs. 8
(b) Rs. 9
(c) Rs. 13
(d) Rs. 14

If a quadrilateral has an inscribed circle,
then the sum of a pair of opposite sides
equals

Half the sum of the diagonals

Sum of the other pair of opposite
sides

(b)

Sum of two adjacent sides

()
(d)

None of the above

A circle and a square have the same
perimeter. Which one of the following is
correct ?

(a)
(b)

Their areas are equal

The area of the circle is larger

()

The area of the square is 7 times

area of circle

(d)

The area of the square is & times
area of circle

A drinking glass of height 24 ¢m is in
the shape of frustum of a cone and
diameters of its bottom and top circular
ends are 4 cm and 18 cm respectively. If
we take capacity of the glass as 7x cm’,

then what is the value of x ?
(a) 824
(b) 1236
1628

(d) 2472

~SDC-S-TRD = A
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56.

§7.

S8.

59.

In an equilateral triangle another
equilateral triangle is drawn inside
joming the mid-points of the sides of
given equilateral triangle and the
process is continued up to 7 times. What
is the ratio of area of fourth triangle to
that of seventh triangle ?

(a) 256:1

(b) 128:1

(c) 64:1

(d 16:1

Rain water from a roof 22 mx20m
drains into a. cylindrical vessel having
diameter of base 2 m and height 3-5 m.
If the vessel is just full, what is the
rainfall ? :

(@) 3-5cm

(b) 3 cm

(¢) 2-5cm

(d) 2 cm

The height of a cone is 60 cm. A small
cone 1s cut off at the top by a plane
parallel to the base and its volume is

é the volume of original cone. What is

- the height from the base at which the

section is made ?

(@) 15 cm

(b) 20 cm

(c) 30 cm

(d) 45 cm

If two tangents inclined at an angle 60°

are drawn to a circle of radius 3 cm, then
what is the length of each tangent ?

(a) 3+/3cm

(b) 3cm
(c) 6 cm

(d) 242 cm



52,

B3

54.

53.

14 cm =8 & T Mg I ) =
A <h! hiAd . 8008 © | Wi =3 A=ciHIeX
et sa TR =T 8 ?

(a)
(b)
(c)
(d)

afe T SgHT A TF dada B, @ we
HST3T o T G3H T TR BT

(a) Toreuif & 2w o1 3men
(b) HHI@ HATH & GHL I T TR
(c) TI e I3 hT AR

(d) S9dch A ¥ I3 e

qaiaﬁaﬁ?qa«'aﬁfﬂqﬁ'mqm%l
ﬁm%%ﬁﬁﬁﬁﬁmu;ﬁﬂ@%?

(a) ST B SXIER 8
(b) I T SR ST R

(c) aﬁmm,ﬁ%éﬁmmgw

2
(d) =T =1 &ither, F0 & &Gl T 77 AT
% j

99 &1 Uah fiemd Sraeh 398 24 cm B |
et 95 & fous & J@R &1 ), @
forel 3R Sl g R a1 =m s
4om 3R 18 cm® | afe fiema Y ewar
mx cm’ e, ?ﬁxmm?ram%?

(a) 824

(b) 1236

(c) 1628

@ 2472

T 8
%9
" 13
. 14

17

56.

=

58.

59,

& TETe S & o, T ™ wEmg
Fraet &t st % weafarga w1 ey 7U
Teh GHXT THaETg 1S ST T4 ©, 37K 98
ufskar 7 sk it St ® 1 2 B &

SABA T AIdd (A9 & &A% o w0
AT © ?
(a) 256:1
b) 128:1
(c) 64:1
) 16: 1

22 m x 20 m<hl Tk B & I91 &1 5T 2 m
AWM & AYR TF 3-5m A% a9 TH
AR I iR ® | 3fE o Sw-d
R WX T R, a?a‘a'f%ﬁﬁg%%?

(a) 3-5cm

(b) 3 cm

(¢) 2-5cm

(d 2cm

e 9% 1 315 60 cm B | T0E ITUR &
THTR T ad & T4 AN TR TH DleT 9%
ST ST €, SR TS AT qA UF &
AT F g7 © | SMER & 95 I 71 2
ST8l 0 T WS T 7

(a) 15cm

(b) 20cm

(¢) 30cm

(d 45cm

afe 60° & @i R Al 7F o Tyl d@ait
® 3 cm FreaT 9 Tw 99 & fag faf
forar st g, a’lu@amaﬁmaﬁmﬁ

Mg ?
(a) 34/3 cm

®) 3em

(c) 6cm
d) 242 cm

A —SDC-S-TRD



60. What is the volume of a sphere of radius @) n

3cm ? xy
(a) 36z o’ |
: ) =
(b) 18z cm’
(c) 97 cm’ ©) nx
33
(d) 6 cm’
il
(@ ¥

61. The sides of a triangle are given by

.\!a2+b2, ‘\)cz-f-az and (b+c) where

¢ : : For the next three (03) items that follow :
a, b, c are positive. What is the area of )

the triangle equal to ? A tent of a circus is made of canvas and is in
' the form of right circular cylinder and right

[ a2 +b% + o2 ; circular cone above it. The height and

(@ > ' ' diameter of thé cylindrical part of the tent are

5m and 126 m respectively. The total height
of the tent is 21 m.

\.’azl"J:l +h%E + c2a?

®

2 : 64. What is the slant height of the cone ?
a(b+c) (a) 60 m '
) M | (b) 65 m
(c) 68 m
2,2 2. 2.2
b
d) -J3(ab +b°¢c"+c"a’) @ 70m

2
' 65. What is the curved surface area of the

62. What is area of largest triangle inscribed cylinder ?
in a semi-circle of radius r units ?

(a) 1980 m?
(a) 7 square units (b) 2010 m?
(b) 2+ square units (c) 2100 m?
(c) 37* square units (d) 2240 m’®

d) 47 square units ;
@ d 66. How many square metres of canvas are

' : used ?
63. The diameter of the front wheel of an
engine is 2x cm and that of rear wheel is (a) 14430
2y cm. To cover the same distance, what (b) 14480
is the number of times the rear wheel
revolves when the front wheel revolves (c) 14580

n times ? (d) 14850

SDC-S-TRD - A ' 18



60.

61.

- (0

62.

63.

33T et T T M o e e
g7

(a) 36mcm’

(b) 18wcm’

(c) 97 cm’

(d) 6z cm’

it o B st B A2l 12,

Ve? +a? 3R (b + ¢) g =uen T
&, el a, b, ¢ gTHa € | Prot &1 gt
vy st 2 2

'\}az +b2 + >

2

(a)

w/azbz +b%c® +cta’

®) - .

alb+c)
2

\; S(aZb2 +b%c? + czaz)
2

)

Broan r gl & U srgga & it T
T TR w3 Pt 1 g o R 7

(a) r* ST
(b) 2/ Tt Tl
(c) 3¢* &t garal
() 4 =t g
TF o & 37 ufed = 20 om ® 3R

froet afed &t @@ 2y em ® | T T
@ A & fog e o & freet

AT BT, Al 3t afedT n IR gHAT R 7

19

(a)

&=

()

=[S

(c)

|

(d)

=|\§

Fe o (03) weeient & fou o = R3A
™Ee: .

TS TXHE hT T e q T =1 @ | T8
T I F w9 F B, Forad s o= g
UF T | T & AR WET it IS ek
AT HAA Sm AR 126 m B | T I Fa
FAE 21 m T |

64. sig 1 RS S et @ 2
(a) 60m
- (b)) 65m
(c) 68m
(d 70m

65. oM 1 I ST S fohae & 7
(a) 1980 m?
(b) 2010 m®
() 2100m?
(d) 2240m?

66. foha =rfiteR Fw=ra wges g ?
(a) 14450
(b) 14480
©) 14580
d) 14850

A — SDC-S-TRD



67.

68.

69.

The wheels of a car are of diameter
80 cm each. The car is travelling at a
speed of 66 km/hour. What is the
number of complete revolutions each
wheel makes in 10 minutes ?

(a) 4275

(b) 4350

(c) 4375

(d) 4450

What is the area of a triangle with sides
of length 12 c¢m, 13 cm and 5 cm ?
(a) 30 cm’

(b) 35 cm’

(c) 40 cm’

@) 42 cm?

If the perimeter of a:circle is equal to
that of a square, then what is the ratio of

. area of circle to that of square ?

70.

SDC-S-TRD - A

(a) 22:7
(b) 14:11
() .7:22
(d 11:14

ABCDA is a con-cyclic quadrilateral of
a circle ABCD with radius r and centre
at O. If AB is the diameter and CD 1is
parallel and half of 4B and if the circle
completes one rotation about the centre
O, then the locus of the middle point of
CD is a circle of radius

@ >
2r
o). =

1l

72.

13

2«/5:’

(c) 3
et
@ ==

7
2
sin@ — cos6 equal to ?

If sin@+ cosO =—, then what is

(a) 0

(b)

S

(c) 1
@ 2

If sinx+sin’x=1, then what is the
value of cos®x + 2cos®x + cos*x 2

(@) 0
(b) 1
(c) 2
@) 4

A man from the top of a 100 m high
tower sees a car moving towards the
tower at an angle of depression 30°.
After some time, the angle of depression
becomes 60°. What is the distance
travelled by the car during this time ?

(@) 10043 m

- zogﬁ -

© 10043 "
3

(d) 200+4/3m



67. TF &R & UdF Ifed &1 = 80 cm § |

68.

69.

70.

FR 66 km/TT F T T IT wH R | A
‘T%mloﬁazﬁ%m%m{ufquhm
7

(a) 4275

(b) 4350

(c) 4375

(d) 4450

12 cm, 13 cm 3R 5 cm g 6t gomait
ATl U TSt &1 Swe fahae 8 2

(a) 30cm’

() 35cm’

(c) 40 cm?

(d) 42cm’

afe & g9 & gy uw @ f & oo &
SRIER ®, O I & &Il &l, a1 & el
% | AT FT BRI ?

(a) 22:7

®) 14:11

(c) 7:22

d 11:14

r a1 3R OR ¥ 9190 @& 99 ABCD I
T Thg<iid 9qis ABCDA ® | & AB

=W §, 3R CD3@H qaI=R 3R 4B &
TR | A 79 F OF IR 3R T guiq

T AT R q CDF Aex fareg - farmgu,
i fer @ g e ?

(a)

(b)

21

11.

72.

7

) 23r
3
3r
Ww

afg sin9+cose=g g, ar
sinf— cost feraar =R@R @ ?
(@ 0

® 3
(¢) 1
@ ~2

afe sin x + sin’x =18, At

“cos®x + 2cosx + cos*x FT AT T4 g7

(a 0
(b) 1
(c) 2
(d 4

100 m 3 T 2R & Y | T et 30°
3EAFET IV | Ueh R &1 279K T 3R 3
BU XEAT 8 | §O 6HY WG, AT Hi7
60° B ST & |3a?rwﬁwma'q=ﬁ
Tt g forat @ 2

(a) 1003 m
200+/3
m

3

10043
3 m

200/3 m

(b)

(©)

(d)

A — SDC-S-TRD



74,

Two men on either side of a tower 75 m
high observe the angle of elevation of

the top of the tower to be 30° and 60°.

" What is the distance between the two

75.

76.

7.

(2)

men ?

(a) 1003 m

® 75m
1004/3

=)
3

(©)
(d) 60vV3m

What 1s the value of
cosec?68° + sec?56° — cot?34° — tan?22° ?

(@ 0
® 3
ey 1
@ 2

If 2y cosf = x sin6 and
2x secO — y cosecB = 3,

then what is x* + 4y* equal to ?

(a) 1
(b) 2
(c) 4
(d 8

+43

If sin@+ cosf = -1—2— where 0<6‘<%,

then what is tan@ + cotf equal to ?

3

4

1

(b) NE

SDC-S-TRD - A

22

78.

79.

80.

© 3

4

(@) 7

If A=sin’0 + cos*0 where 0'£9<%,

then which one of the following is
correct ?

(a) 1<A4<2

(b) Es,<.1s1
4

E51452
16

(c)
g

(@) 16

7P
4

Wihit is cot A+cosec A—1
cot A—cosec A+1

equal to ?7

1+cos 4
sin A
1—cos A4
sin A
1+sin A4
cos A
1—sin A
cos A

(a)

(b

(©)

(d)

Consider the following :

1. sin 1° > sin 1°

2. cos 1° < cos 1°

3. tan 1° > tan 1° |
Which of the above are not correct ?

(a) 1 and 2 only

. (b) 2 and 3 only

(¢) 1 and 3 only
(@ 1,2and3



74.

- ()

7S.

76.

117.

75 m 3 T 2R & Q1 oRF @2 aF et
TTER & 9N o IHa FI0T &Y 30° 3% 60°
U € | gl gl & S A gl
fepaer 8 7 |
(a) 10043 m

(b) 75V3m

10043
3

60+/3 m

m
(d)
cosec’68° + sec?56° — cot?34° — tan?22° T

HE FT ¢ ?

(@ 0

b 1
(c) 1

d 2
afg 2y cosf=ux sinf 3K

2x secl— y cosecH =3 §,
At x? + 4y ok sRIeR @ 2

(a) 1
(b) 2
(© 4
(d) 8
afe sin+ cosO= I+2\/§ %, Tal 0<8<%
2, 91 tanf + cotd foraes R & 7
A3
(a) T
1
® 7

23

78.

79,

80.

(©) 3

7

V3

7R 4 = sin®6+ cos’0 R, wTai 056«% &
T fefrfaa A s e s wa & 2

(@A) 14<2

(b)

gSA'E]
4

ESASZ
6

(c)
_< ”

2<as
471

@)

cotA+cosec 4A—1 e EITIET% 5
cot A—cosec 4 +1 )

1+cos -A
sin A

(a)

l—cos A
si_nA

(b)

1+sin A
cos A
l1-sin 4
cos A

(c)

(d)

Frfafes w fer fifg
1. sin 1° > gin 1°
2. cos 1° < cos 1°
3. tan 1° > tan 1°

IHE AT I G AR 7
(a) a1 3k 2

(b) Fae 2 3R 3

(c) a1 3R 3

d) 1,2 3R 3

A - SDC-S-TRD



81.

82.

83.

If tan’x+

—=2 and 0°<x<90°
tan~x

then what is the value of x ?

(a)
(b) 30°

15°

(c) 45°

d) 60°

If the length of the shadow of a tower is
equal to its height, then what is the Sun’s
altitude at that time ?

(d)- 15°
(b) 30°
(c) 45°

d) 60°

Consider the following :

. cos 75° . sin 12° cos 18° _
sin 15° cos 78° sin 72°
9. €08 35° sinll°
. - +
sin 55° cos 79°
cos 28° cosec 62°=1
3, Sm 80 — sin 59° sec 31°=0

cos 10°

Which of the above are correct ?

(a)

(b) 2 and 3 only

1 and 2 only

(¢) 1 and 3 only

(dy 1,2 and3

SDC-S-TRD - A
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84.

85.

86.

®

A pole stands vertically inside a
triangular park ABC. If the angle of
elevation of the top of the pole from
each corner of the park is same, then 1n
the triangle ABC, the foot of the pole is
at the

(a) Centroid
Circumference '
Incentre

(c)

Orthocentre

()

What is the value of
tan1°tan2°tan3°tan4° . . . tan89° ?

(a) O
(b) 1

(c) 2

) 3

The average score of class X is 83.
The average score of class Y is 76.
The average score of class Z is 85.
The average score of class X and Y is 79
and average score of class Y and Z is 81.
What is the average score of X, Y and Z?

(a) 815
(b) 805
©) 79-0

(d) 78-0



81.

82.

83.

=2 3R 0°<x<90° g,

afe tan?x + >
tan“x

Tt x T HH FTE ?

@
(b)
(©)
(d)

15°

30°

45°

60°

gfg forelt ZreR &t B F T=E S

AR & AR B A W W g
Iy fopaeT 2 2 ' |

() 15°

b) 30°
(©) 45°
@) 60°

et o Fram g

cos 75° . sin 12°  cos 18° _
sin 15° cos 78° sin 72°

&
5 cos 35° _ sin 11°
" sin 55° cos 79°

cos 28° cosec 62°=1

sin 80°
cos 10°

IH A AT T T ?
(a) ¥ad 1 3R 2

(b) a2 3R 3

(c) Fadl 1 3R 3

(ﬁ) 1,iaﬁi3

a —sin 59° sec 31°=0

25

84.

85.

T Fraivitg ah (SU) ABC & ek U
WY st ger ¢ | afe ud & vds am
W wH & 0 kI F=AdT FT R UHAA €,
At Breior ABCH w69 &1 U FET W R 7
(a) I

(b) uldfa

() i ¥

) ¥9F<

tan1° tan2° tan3° tan4® . . . tan89° T A

AT ?

(@) 0

b 1

86.

(c) 2

@ 3

HET X o 306 3 838 | F&M Y & 3
3E 76 T | e Z * 37T 3 85 € | e
X 3R &M Y & 3| 3 79 €, 3% e
Y 3R FeT Z & sitea aiw 818 | X, Vi
Z T 3q 3F TR ?

@ 815
(b) 30-5
© 790
d),. 780

A - SDC-S-TRD



87.

88.

89.

90.

For x>0, if a variable takes discrete
valuesx+4,x—-35,x-2-5x-3,x-2,
x+0-5 x—05, x+5, then what is the
median ?

(a) x—1-25

(b) x-0-5

(¢) x+05

(d x+1:25

The median of set of 9 distinct

observations: is 20-5. If each of the
largest 4 observations of the set is

increased by 2, then the median of the

new set
(a)
(b)
(c)
(@)

is increased by 2
is decreased by 2
is two times the original median

remains the same as that of original
set ;

A cricketer has a certain average of
10 innings. In the eleventh inning he
scored 108 runs, thereby increasing his
average by 6 runs. What is his new
average ?

(a) 42
(b) 47
(c) 48
(d) 60
The mean of 20 observations is 17.
On checking it was found that the two
observations were wrongly copied as

3 and 6. If wrong observations are
replaced by correct values 8 and 9, then

what 1s the correct mean ?

SDC-S-TRD - A
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91.

92.

93.

(a) 17-4
(b)
()

(d)

16-6

15-8

14-2

Number of credit cards held by an
individual can be treated as

(a) Qualitative data

(b) Discrete data

(¢) Categorical data

(d) None of the above

In a class of 100 students, there are
70 boys whose average marks in a
subject are 75. If the average marks of

the complete class is 72, then what is the
average marks of the girls ?

(a) 64

(b) 65
(c) 68
d) 74

A pie chart depicts the classification of
total funds of an organization according
to different sources of funds. A particular
sector of pie chart for corporate tax has
108° angle at' the centre. What is the
percentage of income from corporate tax
to total funds ?

(a) 20%

() 25%
(¢) 30%

@ 35%



87.

88.

89.

90.

x> 03 fou, afe & =x, fafems amm x + 4,
x—35 x-25 x-3, x-2, x+05,
x—05,x+5dd1 8, ar AfSFET WT S ?

(a) x—125

(b) x-0-5
{(c) x+0-5

(d x+125

9 forr Terort & == it Arferar 2058 |
afS TH=aa % 4 8 S Y0 # § TAF
! 2 31! | =T foan s oY 7 'y 6
TTfEreRT

() 2%6@;@@%
(b) 29 =¢ A e
(c) IS AT BT G &

d) H« wW=g & ATEIET & qHE R
et @

s e faamst &t 10 wifeat =1
fafsaa 3ftwa 8 | wRed! o< # suR
108 s, S saen sitea 6 @ =g
TGT | T 7T T TR 7

(@) 42
() 47
(c) 48
d 60

20 HeAOT 1 ATET 17 % | M9 4 R T
T T S g Wervn (e @) 3 3R 6%
&9 H T ITRT AT AT | AT Tera Feron
T R F6t A 8 3R 9v@ fA 9 €, A
aE AT R 7
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91.

92.

93.

(a) 17-4
(b)
(c)

(d)

16-6
15-8
14-2

freht =R g1 <@ TR A e S
TR e A AT s AEaT e 7

(a) TOTTCHE o
(b) ferferen <=
(c) wafifasa
(d) S9h & | A el

100 faenf¥fat &t we wem § 70 @2 €,
e = fvm # sfoa o= 758 1 Al
aruf et & siterd sich 72 8, Y wrefeat &
3ited sk foram € 2

@) 64
(b)
(c)
(d)

64
65
68
74

T goETe, TRt w@men i g fafy &
FFiieRor 1 fferat 3 e et & saw
qufar @ | AT R & forg ge=e w1
fag &=, Sheg 9 108° T 1T FAET © |
Al W ¥ Fo i F fau smy &
wisraar #=1 8 ?

(2)
(b)
(©)
(d)

20%
25%
30%
35%
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94.

95.

96.

97.

Consider the following statements :

1. The classes of type 15-19, 2024,
25-29 etc. are exclusive classes.

2. The classes of type 15-20, 20-25,
25-30 etc. are inclusive classes.

Which of the above statements is/are
correct ? '

(a) 1 only

(b) 2 only

(c) Both 1 and 2

(d) Neither 1 nor 2

Suppose the class interval 10-15 has

frequency 30, then what is the frequency
density of this class interval ?

(a)
(b)
(©)
@

S L W N

Let S be a set of first ten natural
numbers. What is the possible number of
pairs (a, b) where a, b € Sand a # b
such that the product ab (>12) leaves
remainder 4 when divided by 12 ?

(@) 4

(b) 6

(c) 8

@ 10

What is the remaindet when
13°+14°+15*+16° is divided by 29 ?
@ 8

(b) 5
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98.

99.

100.

(¢) 3
(d 0
What 1s the difference between the sum

of the cubes and that of squares of first
ten natural numbers ?

(a) 2280
(b) 2640
(c) 3820
(d) 4130
A motorist travels to a placc 150 km
away at an average speed of 50 km/hour

and returns at 30 km/hour. What is the
average speed for the whole journey ?

(a)
(b)
(c)
(d)

35 km/hour
37 km/hour
37-5 km/hour
40 km/hour

If x+ T 2, then what is x

Lz
2+l
3

equal to ?

7

@ 1o

13

®) 10

11

© 1o

17

@ 1



94.

9s.

96.

97.

Frafafas Fat w fmr 6
1. 15-19, 20-24, 25-29 3Mfe WFHR
F =f, sgaffa =°f € |

2. 15-20, 20-25, 25-30 3Mfe UeKR

& 1, siafde a9 € |
STth # | F AT/ hue G B /E ?
(a) ¥ 1
(b) e 2
(c) 1 &R 2 Ml
d TaAL,TE 2

79 difie fF @t smae 10-15 6
ARARAT 30 §, A T A ARG B
TRARAT T fFar & 7

(a) 2

®) 3

() 5

@ 6

ma’rﬁq%S,maﬂaﬁTfmaﬁaﬂ
U GG © | g1 (a, b) it Gefya e
FNE, Tela,be SR a#b3d 9K © 6
Tﬁwab(ﬂz)ﬁlzﬁﬁwﬁmaﬂﬁw
AYET 4 TEAT R 7

(@ 4

(b) 6

(c) 8

(d .10

13%+14°+15°+16° =1 29 & ol @

'aﬁmﬁawwm%?

() 8
(b) 5

29

98.

99.

100

(c) 3
@ 0

WH GH G0 GGATSAT & Tl o ANTheT 31K
Ieich AT oh ANTH o S19 ol JFwaL fere=T
TR ?
(a) 2280
(b) 2640
(c) 3820
(d 4130

TF Hie T 150 fft R e
AT 50 TRt /52 <t 3t Wiy | e
3R 30 forft /52 6t wifer & oftear € | wwqot
A 3 forg st wfer et & 7

(a) 35km/9er

(b) 37 km/®cT
(c) 37:5 km/"eT
(d) 40 km/9eT
;ﬂﬁx+ l =25
1
1+ 1 -
24—

3
Eﬁxﬁ?ﬂ%a’ﬂ?ﬂ%l
. .

(@) To
13
(b) To
11
(c) 0
17
(d) To
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Note : English version of the instructions is printed on the front cover of this Booklet.



